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PN

Hu: A2
CHel: s (MaEAYSEE) (eol:@e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
Al 22| AF ) A 10,682,332 10,912,824 £230,492
=) 2,751,000 2,751,000 0
< 2,085,671 2,085,671 0
2 5,845,661 6,076,153 £230,492
+Z2H 10,465,846 10,693,894 228,048
=) 2,751,000 2,751,000 0
= 2,085,671 2,085,671 0
2 5,629,175 5,857,223 £228,048
SR (ML TALSEEH) 9,971,444 10,199,492 228,048
2 2,751,000 2,751,000 0
= 1,950,000 1,950,000 0
2 5,270,444 5,498,492 £228,048
MaTAE B 1,917,466 2,129,626 ~212,160
201 Lete H bl 1,561,678 1,563,678 £2,000
01 At 2H2lH| 28,778 30,778 ~2,000
OM4E +EAAN 48 13,158 15,158 A2,000
-3+n3Y 62,5009 *4 7| %420 2 10,500 12,500 £2,000
301 YerE X3 200 1,000 800
EPIEER= 200 1,000 800
OXNYM+E w4 4D ZA3 XS
20,0008 #1021 200 1,000 800
307 812t0I & 90,240 99,600 9,360
05 Bl et 3 90,240 99,600 £9,360
Od+E A& 21293 90,240 99,600 £.9,360
—Fe 8002 +9,050% * 12 86.880 96,000 A9,120
— OtItE 4002 57007 * 128 3,360 3,600 240
401 Al HI L S CHHI 200,000 400,000 200,000
01 Al&HI 200,000 400,000 £200,000
OMel S4B A 0 200,000 200,000
44+E SLSH DAL 523,978 529,866 £5,888
201 Yete | 16,612 22,500 5,888
02 BB 12,612 18,500 ~5,888
OM+ES+2aX2 K
1,260 %314 *2CH %1002 7,812 12,500 ~4,688
OM+ES4+23X2 KA
200, 0008 204 128 4,800 6,000 A1,200
Ofl bl b1 % D1 E 0 10,000 210,000
801 OilHl bl 0 10,000 £10,000
01 erol bl 0 10,000 £10,000
Ol bl 0 10,000 ~10,000
M4AESD BRI (ALTAYSESIN) 494,402 494,402
= 135,671 135,671




2N
X ZH -
L= B

el

NEETIIN=PS
LEEH
ALRARSTY B (MEEAYSEH)

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
o 358,731 358,731 0
ZAax2 NP0l AL 193,816 193,816 0
=) 135,671 135,671 0
= 58,145 58,145 0
101 @14 Hl 178,409 178,409 0
< 124,886 124,886 0
s 53,523 53,523 0
04 JI2ZtHNZ22 s+ 178,409 178,409 0
OZda=3 X0l 178,409 178,409 0
A== 51,5403 «20H x 124 127,820 122,345 5,475
=) 85,641 85,641 0
s 42,179 36,704 5,475
- &5 51,5403 x20 x26 26,801 25,351 1,450
< 17,746 17,746 0
s 9,055 7,605 1,450
— XY 51,5403 x20H 5 5,154 6,614 A 1,460
< 4,630 4,630 0
s 524 1,984 A 1,460
—S8= 18,634 24,099 A5,465
= 16,869 16,869 0
s 1,765 7,230 A5,465
HY2AZH (A2 L) 216,486 218,930 N2,444
AU (AT A SESIA) 216,486 218,930 N2,444
arFEs A2 oA 95,086 97,530 N2,444
101 1Al 95,086 97,530 AN2,444
03 RIAHAZZ2 T2+ 95,086 97,530 N2,444
Od=ES53S SZ0I3H E= 95,086 97,530 A2,444
— &2+ 1,758,700& »2H 3,518 4,278 AT60
— dH s = 0 1,684 A1,684




